Class 71" Maths Test

Exponents

1. Find the value of 54

2. Find the value of (34)3

3. The number 128 change into exponential form.
420+ x(E+TP=_
5,19.7x10°+6x103+2x102+5x10°=__

a) 706025 b) 76205
c) 706205 d) None of these

6. Write in standard form; 6,780,000

7. Using laws of exponents, simplify and write the answer in exponential form
(i) 23x24%x25

(i) 52+ 5°

(iii) (72):

(iv) (395 + 3

(v)37x2

(vi) (52 £ 51°) x 57

Find the value of x :

(a) 5[%] — 5 (b) (25 - 2—3) x 2 = 2%



9. Using laws of exponents, simplify and write the answer in exponential form
a) (32)°+34 b) (5%:5%x5’

10. Find the values of nin: (3/2)% x (3/2)°=(3/2)*™



